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Instructions: You have 180 minutes. You may use one 3X5 card with facts. Answer all questions. 
Part A: Multiple Choice: Pick the Best Answer (5pts each)
1.  The ratio of a country's average export price to its average import price is

a. its absolute advantage.

b. its comparative advantage.

c. its terms of trade.

d. its exchange rate.

e. none of the above

2.  Which of the following is an argument in favor of trade liberalization?

a. Increased technical efficiency.

b. Accelerated technical progress.

c. Decreased shortages of foreign exchange.

d. all of the above

e. all but one of the above.

3.  An argument in favor of direct foreign investment is that it tends to 

a. reduce inequality.

b. promote rural development.

c. increase access to modern technology.

d. decrease local ownership.

e. none of the above.

4.  The Gini coefficient provides a measure of

a. The level of poverty.

b. The level of relative inequality.

c. Disguised unemployment.

d. The rate of growth.

e. All of the above

5. Chinese economic development has been accelerated by 

 

a. High agricultural prices 

b. Massive inflows of foreign direct investment 

c. An undervalued foreign exchange rate 

d. Export led growth 

e. All but one of the above 

6. In the Lewis model development is only possible if 

a. There is redundant agricultural labour 

b. If any agricultural surplus is reinvested 

c. If industrial job growth matches the number of agricultural migrants 

d. All of the above 

e. All but one of the above 

7.
  A motivation of developed countries in providing development assistance is

a. the creation of markets.

b. geopolitical influence.

c. genuine humanitarian concern.

d. all of the above.

e. all but one of the above.
8.
Agricultural development is essential to the development process because it will

a. Provide a surplus for export 

b. Raise the real urban wage 

c. Retain agricultural labour in the agricultural sector 

d. Raise the standard of living of the poorest in society. 

e. All of the above   

9. The Green Revolution or the use of high yielding varieties of seed  led to
a. Increased total agricultural output in selected crops 

b. Increased income inequality in the rural sector 

c. Increased rural unemployment 

d. Increased the push forces to migrate to the urban sector 

e. All of the above except one 

10.  A motivation of developed countries in providing development assistance is

a. the creation of markets.

b. geopolitical influence.

c. genuine humanitarian concern.

d. all of the above.

e. all but one of the above.
11.  The Washington Consensus refers to a set of policies which include
a. Balanced government budgets

b. Reduction in trade barriers

c. Free mobility of capital

d. the creation of markets.
e. All of the above

12. Writing a persuasive economic argument requires:

a.
 A topical issue

b.
 An economic model for analysis
c.
 Some pertinent facts
d. 
a conclusion

e..
 All of the above

13. Economic Arguments for Child labour include:

a.
 Household poverty can be relieved by child labour

b.
 Canada used child labour to develop

c.
No schooling is available

d.
Children can mix work and education in a progressive setting

e..
 All of the above

14. Free trade can substitute for aid since:

a.
 Aid does not often reach the poor

b.
Free trade will have a more powerful effect than any conceivable aid level.

c.
Free trade will create competition and break up corruption in poor countries

d. 
All of the above except one

d.
 All of the above

15. Demographic Transition has the following features:

a.
 A declining infant mortality rate

b.
 A declining crude death rate followed by a declining crude birth rate

c.
 Near zero population growth at beginning and end of transition

d.
 All of the above

16. Public Health expenditures are always more productive in a poor country than private health expenditures because:

a.
 The marginal cost of public health expenditures is close to zero

b.
 Mitigating public disease has a positive externality

c.
 The initiatives can often be funded through public and private aid

d.
 All of the above

17. The Brain Drain has been replaced by Brain Circulation which implies that:

a.
 Highly Skilled often return home
b.
 Immigrants while residents in developed countries remit monies home.
c.
Highly skilled immigrants often obtain subsidized training while in residence in a developed country.
d.
 All of the above

18. Immigrant Remittances can help development by 

a.
 Balancing a countries capital account

b.
 Provide investment for relatives at home

c.
 Help an immigrant pay back family loans

d.
 All of the above

19.  Trade Pessimists believe trade is not an engine of growth since:

a.
 Limited growth prospects for primary exports

b.
 Decline in terms of trade for primary products

c.
 Rise in protectionism in developed countries

d.
 All of the above

20.  Trade Optimists believe trade is an engine of growth since it
a.
 Attracts Foreign Direct Investment
b.
 Generates foreign exchange
c.
 Generates increased efficiencies and competition
d.
 All of the above

Part B: Fill in the Blanks
 1: Urbanization is a severe problem in most poor countries:

 

a. What percentage of your country (__________) is urbanized _______ %.  (1 pt) 

 

b. Why is the individual motivation to move greater than society’s need for mobility? (3pts) ____________________________________________________________ 

 

c. What 3 models best explain the motive for rural and urban migration in poor countries? (3 pts) 

 

i)      ___________________________________________________________

 

ii.)      ___________________________________________________________

 

iii)      ___________________________________________________________

 

d. Name three policies that can reduce the rate of urbanization in your country. (3pts.) 

 

i.)      ___________________________________________________________

 

ii.)      ___________________________________________________________

 

iii.)      ___________________________________________________________

 

2: Name and define from the movie “Beijing Bicycle”

 

a. One demographic indicator _____________________________________ (2 pts) 

 

b. One economic indicator________________________________________ (2pts) 

 

c. One other indicator ___________________________________________  (1pt) 

 

 

 3: Kuznets argued that history revealed key processes in the development process, 

a. How does your country match the values reported by Kuznets for his 3 key ingredients for development (3pts) 

 

1) 1)      __________________________________________________________

 

2) 2)      __________________________________________________________

 

3) 3)      __________________________________________________________

 

b. If your country has a population growth rate of 2.5%, what savings rate does it need to achieve a 2.5% growth rate in GDP per head with a 10 for the capital output ratio? (3pts) __________ 

 

c. What is the required savings rate if population growth is zero? (2pts) ________ 

 

d. What is the required savings rate if technical change doubles the productivity of capital and all else remains unchanged? (2pts) __________ 

 

  4. Income per capita in India is only US$485 in 2000. There are two downward biases in this measure. Indicate what they are and in the space provided tell how you would correct for them.
 

Bias 1_______________________________________________________________ 

 

________________________________________________________________

 

___________________________________________________________(7.5pts)

 

 

Bias 2_______________________________________________________________ 

 

________________________________________________________________

 
___________________________________________________________(7.5pts)
Part C: Short essay ( 35 points)

Please read the article below and answer the following.in the space provided.
What is the issue in this story and is it important?

Which side of the debate are you on and why?

What is your conclusion from this analysis?
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Freedom's in 2nd Place?

By NICHOLAS D. KRISTOF
ARAPCHIV, Ukraine — This is the story of two villages, half a world apart. One is this hamlet in southern Ukraine, where my roots lie. The other is my wife's ancestral village, in the Taishan area of Guangdong Province in southern China. 

In the late 1980's and early 1990's, the two countries took diametrically opposite paths. Ukraine and most other constituents of the deceased Soviet Union giddily held presidential elections and pronounced themselves democracies, while China massacred protesters demanding more freedom and democracy. 

I wish I could say that free elections pay better dividends than massacres. But, although it hurts to say so, in this case it looks the other way around. 

Here in Karapchiv, villagers are reasonably free to say what they like about their leaders, but Ukraine is further than ever from having the broad middle class that normally sustains a healthy democracy. There are no jobs, some peasants spend their entire day leading a cow around on a rope to graze, and Karapchiv lacks any factory to take advantage of labor that can cost as little as $1 a day. 

In contrast, my wife's village is bustling, along with the rest of Guangdong. Factories have sprouted everywhere, and teenagers brandish cellphones the way they used to wave Mao's "Little Red Book." 

Since 1989, when the Soviet Union opened fire on Communism and China opened fire on its citizens, China's economy has tripled in size — and Ukraine's has shrunk by half. 

Even in Russia, according to Izvestia, 40 percent of the people can't afford toothpaste; in Karapchiv, many can't afford toilet paper and make do with newspapers (which to me seems sacrilegious). Meanwhile, prospering China has become a global center for cosmetic surgery. 

I was as outraged as anyone that Chinese troops massacred hundreds of protesters to destroy the Tiananmen democracy movement. But China's long economic boom has cut child mortality rates so much since 1990 that an additional 195,000 children under the age of 5 survive each year. 

Does this mean that the Chinese are better off for having had their students shot? No, of course not. But it does mean that authoritarian orderliness is sometimes more conducive to economic growth than democratic chaos. 

For example, two of the nastiest and least reformed countries in the former Soviet empire are Belarus and Uzbekistan. As an excellent (and somewhat rueful) World Bank report on the ex-Soviet Union's first decade notes, those are also the two countries that best weathered the post-Communist recessions. 

As I compare Karapchiv with my wife's village, though, it seems to me that the best explanation for the different paths of China and the former Soviet Union is not policy but culture. I'm sure I'll regret saying this, but there really is something to the caricature that if you put two Americans in a room together, they'll sue each other; put two Japanese in a room together, and they'll start apologizing to each other; two Chinese will do business; and two Ukrainians or Russians will sit down over a bottle of liquor. 

The moment the Chinese government began to debate the future of the communes more than two decades ago, peasants in Guangdong took matters into their own hands and divided up the land to farm their own plots. In contrast, even today the old Kristof farmland in Karapchiv is still part of a state farm, run by Petro Makarchuk, an amiable director in a white shirt over a potbelly; he still insists that state farms are the way to go. 

Most farmers in Karapchiv do now farm their own plots, but some, like Vasyl Hutsul, have remained in the local collective farm. "I'm just waiting for my retirement pension," he explained, with a lassitude and complacency that one rarely sees in Guangdong. 

Our old family home is now a school, and the principal, Anatoly Marianchuk, fretted about the lack of initiative to start new capitalist ventures. "It's a question of psychology," he said moodily. "The old system is breaking down, but slowly." 

Ultimately, after my visit here, I still don't feel I fully understand why China has done so well and the former Soviet Union so poorly. But I am filled with one overpowering emotion: I'm so grateful to my father, and to my wife's grandparents, for leaving behind all that was familiar to them in two villages half a world apart, and thus bequeathing us the gift of America.

